Exercise 1 Calc. : X
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A dice is thrown 10 times. The diagram above shows the absolute frequency n of the 6 possible
results.
Based on the diagram above determine the mean and the median. 5 marks
Exercise 2 Calc. : X
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Un dé est lancé 10 fois. Le diagramme ci-dessus montre le nombre d’apparitons de chacune des
6 faces.
A Tlaide de ces informations, déterminer la valeur de la moyenne et de la médiane. 5 marks
Exercise 3 Calc. : X
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Kostky jsou 10krat hozeny. Piloeny diagram znazoruje absolutni etnosti 6 monych vysledk tchto
hod.
Na zéklad vye uvedeného diagramu urete: 5 marks
a) prmr
b) median




